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7h ¥Hgl7] ad A~ DATA (IEEE)

BT [ 1oHYr| %z | S0HUT| %7 | B2 | 1@HYY| %z | 3@HAT| %z
wvAl | R X R X | mvall R X R X
3 2.2 1.7 - - 150 1 3.6 2,0 40
5 2.2 1.7 - - 200 1 3.6 1.9 46
75 | 22 1.7 - - 250 - - 1.9 46
10 1.6 1.6 2.7 13 | 300 - - 1.7 47
15 1.6 1.6 2.7 13 | 500 - - 12 | 49
20 16 16 2.7 13 | 750 - - 2.6 51
30 1.6 1.6 3,5 35 | Lo00 | - - 2.1 5.3
50 13 2 3.5 36 | 1,500 | - - 1.7 5.5
& 12 | 35 2,5 43 | 2000 | - - 14 | 56
100 | 12 | 35 2,5 3.7 - - - - -




L) A=z Uu]UA DATA (IEEE)

chH = ¥[8/ km] ched = X[ & )
o) | o E e [ sods | s | oz | seaz
1.6 8573 | 01617 | 01152 60 03079 | 01342 | 01004
2.0 5437 | 01608 | 01152 80 02330 | 01312 | 00934
2.6 3245 | 01585 | 01156 100 01878 | 01289 | 0.0968
3.2 2144 | 01558 | 01152 125 01523 | 01309 | 00981
5.5 3195 | 01513 | 01156 150 01279 | 01289 | 00968
8.0 2198 | 01558 | 01152 200 00983 | 01263 | 0.0938
14 1278 | 01434 | 01063 250 00810 | 01243 | 00915
22 0817 | 01447 | 01078 325 0084l | 01253 | 00912
30 0603 | 01378 | 01026 400 00542 | 01234 | 00889
38 0477 | 01401 | 01047 500 00466 | 01214 | 00853
50 0365 | 01388 | 01024 - - - -
CH ACB9 %e|HEl A (Z]&2HAXHES)
2] M 2~ 20 (1L,000kVAZ] =)
ACB 24 415V 50H: 330V B0Hz
100A 20kA 2,30 3.29
200A 20kA 0,35 0,50
600A 20kA 017 0.24
200A A0kA 0,35 0,50
600A 40kA 017 0.24
1000A 40kA 0,06 0,09
2000~ 3000A 70kA 0,04 0,06
2} MCCB9 2. ujd A (ZlsAMMCE S
HAA= Vo2 (1,000kVAZ] &) HAAS o2 (1LO000EVAZ]S)
415V 50Hz | 380V 60Hz 415V S0Hz | 380V 60Hz
[A] YR | YeX | %R | %X [A] 2R | YaX | %R | %X
15 346 | 006 | 413 | 009 | 175~225 | 021 | 0.06 | 025 | 0.09
20 254 | 006 | 303 | 009 | 250~300 | 0.10 | 0.06 | 012 | 0.09
30 163 | 006 | 1.94 | 009 | 350~400 | 0,078 | 0.06 | 009 | 009
50~75 | 054 | 006 | 064 | 009 | 500~600 | 004 | 006 | 0.05 | 009
100~150 | 038 | 0.06 | 045 | 009 | 700~800 | 0.038 | 0.06 | 0.04 | 0.09
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EVAS ZA Py = 15X (AEZIEE kW)

v = 25[%6] 2 B 7
Yeng = ( Pan / P ) % 25 [%4]
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3. A4 oA

D As +48x

@ TR 36 ZDDEVA Z2OEV{SBOV = 2. = 10+LE[]

[V 20Dmix 20m = 2, = [0.0968+0, 0036 [2/km]
o

0) MCCE 3P 4DDA = 2cE5 = 0.08+0.080%]
Fs

bl

) ) MCCE 3P 10DA = %2g = 0.45+j0.08[%]

T T IV 3Bmi x30m = 25 = 04771401 047 [ 2 flom]
Fs

# Hals 100 AFNE 13T

2 71=A &%
Pn = 1,000[kVA]
Vn = 0.38[kV]
In = 1519[A]
YeZ = 6925004 Q]

%2 :%xu.em.a} = 95 + §23 [%4]

@ Alols wduH g Fiatd

02y, = Pl AVAIXZIQ] 10 x(0.0989 + j0.038) x0.02
0% V,*[4V] 10% 0.38°

"

=1.37+/1.3[%]

oo o PRlAVAIXZIQ] 407 (0. 4771 + j0. 10471 0,03 .
OiZLe = _ P
“ T T x v Y 9.9+ 2.18[%]

@ MCCB 2edmE
YoZpt = 0.09 + j0.09[%]
YeZpe = 0.45 + §0.09[%4]
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O FEe 23 dod s
YolF = Yalt + Yol + Falm
(95+i23) + (1.37+i1.3) + (0.09+37009)
10,96 + 12439
26, 74[5%¢]

YolFz = YolT + Voll + Vallz + Yolm + Volme
= (3.5+123) + (1.37+i1.3) + (99+i218) + (0.09+i0.09) + (0.45+i0,03)
= 2131 + j26.66
= 34.130%4]

:[31 = M[ﬂ] = 1':]':'><1,519 — S,BSD[A]

HE7ZRE DUAE AYTS W 24 AR MR AN

= ——200 =
Ina V350 98 x4 =1,218[ A]

webd FaPE21E] AIHEHE
lapn = 5630 + 1216 = 6,896[A]
24 MCCB 380V3 69[kalo]srs] 25 AHESH I

® P9 TEEE

_ 100 T, _ _100x1.519 _
se = o ~[4] i = 44%0[A]

57128E TRIEE KUY 12061A15 THEW ZH ST AoreY

lspe = 4450 + 1216 = 5,P66[A]
24 MCCB 380V 57kalol4dre 715 ddsHH Ho £,
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—



